MA 114 — Calculus IT Fall 2016
Quiz 10 — 12/08/16

Answer all questions in a clear and concise manner. Answers that are without explanations or are
poorly presented may not receive full credit.

1. A toucan population grows logistically with constant growth £ = 0.4 per year in a forest
with carrying capacity of 1000 toucans. Write the differental equation that describes the rate
of change of the population.
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2. Solve the logistic equation:

dy/dz = 0.4y(1 — y/1000) with the initial condition 3{0) = 100.
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